

Confider	itiality Requested:
Yes	No

Kansas Corporation Commission Oil & Gas Conservation Division

1195778

Form ACO-1 August 2013 Form must be Typed Form must be Signed All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15
Name:	Spot Description:
Address 1:	SecTwpS. R 🗌 East 🗌 West
Address 2:	Feet from
City: State: Zip:+	Feet from _ East / _ West Line of Section
Contact Person:	Footages Calculated from Nearest Outside Section Corner:
Phone: ()	□NE □NW □SE □SW
CONTRACTOR: License #	GPS Location: Lat:, Long:
Name:	(e.g. xx.xxxxxx) (e.gxxx.xxxxxxx)
Wellsite Geologist:	Datum: NAD27 NAD83 WGS84
Purchaser:	County:
Designate Type of Completion:	Lease Name: Well #:
☐ New Well ☐ Re-Entry ☐ Workover	Field Name:
Oil WSW SWD SIOW Gas D&A ENHR SIGW OG GSW Temp. Abd. CM (Coal Bed Methane) Cathodic Other (Core, Expl., etc.): If Workover/Re-entry: Old Well Info as follows:	Producing Formation: Kelly Bushing: Total Vertical Depth: Plug Back Total Depth: Feet Multiple Stage Cementing Collar Used? Yes No If yes, show depth set: Feet
Operator:	If Alternate II completion, cement circulated from: sx cmt.
Well Name: Original Comp. Date: Deepening Re-perf. Conv. to ENHR Conv. to SWD Plug Back Conv. to GSW Conv. to Producer	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Commingled Permit #:	Chloride content: ppm Fluid volume: bbls Dewatering method used: Location of fluid disposal if hauled offsite: Operator Name:
GSW Permit #:	Lease Name: License #:
Spud Date or Date Reached TD Completion Date or Recompletion Date Recompletion Date	Quarter Sec. Twp. S. R. East West County: Permit #:

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY
Confidentiality Requested
Date:
Confidential Release Date:
Wireline Log Received
Geologist Report Received
UIC Distribution
ALT I II III Approved by: Date:

Page Two



Operator Name:				Lease N	Name: _			_ Well #:		
Sec Twp	S. R	East	West	County	:					
	ow important tops of fo ing and shut-in pressu o surface test, along wi	res, whe	ther shut-in pre	ssure reacl	hed stati	c level, hydrosta	tic pressures, bo			
Final Radioactivity Logilles must be submitted						gs must be ema	iled to kcc-well-lo	ogs@kcc.ks.go	v. Digital	electronic log
Drill Stem Tests Taken (Attach Additional S		Ye	es No			3	on (Top), Depth a			Sample
Samples Sent to Geol	ogical Survey	Ye	es 🗌 No		Nam	9		Тор	L	Datum
Cores Taken Electric Log Run		☐ Y€								
List All E. Logs Run:										
			CASING	RECORD	│ Ne	w Used				
		Repo				rmediate, producti	on, etc.			
Purpose of String	Size Hole Drilled		e Casing t (In O.D.)	Weig Lbs./		Setting Depth	Type of Cement	# Sacks Used		and Percent dditives
Purpose	Depth					EEZE RECORD				
Purpose: Perforate	Top Bottom	Туре	of Cement	# Sacks	Used		Type and	Percent Additives		
Protect Casing Plug Back TD										
Plug Off Zone										
Did you perform a hydrau	ilic fracturing treatment or	this well?	?			Yes	No (If No, sk	ip questions 2 ar	nd 3)	
	otal base fluid of the hydra		•		•			ip question 3)		
Was the hydraulic fractur	ing treatment information	submitted	to the chemical of	disclosure reg	gistry?	Yes	No (If No, fil	out Page Three	of the ACC)-1)
Shots Per Foot			RD - Bridge Plug Each Interval Perl				cture, Shot, Cemen		d	Depth
TUBING RECORD:	Size:	Set At:		Packer At	t:	Liner Run:				
							Yes No			
Date of First, Resumed	Production, SWD or ENH	R.	Producing Meth Flowing	nod:	g \square	Gas Lift C	other (Explain)			
Estimated Production Per 24 Hours	Oil Bl	bls.	Gas	Mcf	Wate	er Bl	ols.	Gas-Oil Ratio		Gravity
DIODOGITI	ON OF CAC			ACTUOD OF	COMPLE	TION		DDODUGT		
Vented Sold	ON OF GAS: Used on Lease		N Open Hole	NETHOD OF \Box Perf.	Dually	Comp. Con	nmingled	PRODUCTIO	λΝ ΙΝΙ ΕΚ\	/AL:
(If vented, Submit ACO-18.) Other (Specify)										

Form	ACO1 - Well Completion
Operator	Kahan and Associates, Inc
Well Name	Pizinger D 3
Doc ID	1195778

Casing

Purpose Of String	Size Hole Drilled	Size Casing Set	Weight	Setting Depth	Type Of Cement		Type and Percent Additives
Surfac e	12.25	8.6 25	23	938	65/35, Class A	375	6% Gel, 3% CC
Produc tion	7.875	5.5	14	3538	ASC	150	2% Gel, 10% Salt



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Kahan & Associates Inc. P O Box 700780 Tulsa, OK 74170

INVOICE

Invoice Number: 141148

Invoice Date: Jan 29, 2014

Page:

1

MECHINED

FEB 11.7014

KAHAN & . WOULDATES

Customer/ID	Field Ticket#	Paymen	t Terms
Kahan	62643	Net 30	
Job Location	Camp Location	Service Date	Due Date
KS2-01	Great Bend	Jan 29, 2014	2/28/14

Quantity	Item	Description	Unit Price	Amount
1.00	WELL NAME	Pizinger #3		
1	CEMENT MATERIALS	Class A Common	17.90	2,685.00
	CEMENT MATERIALS	Chloride	0.80	384.00
	CEMENT MATERIALS	Chloride	0.80	512.00
	CEMENT MATERIALS	Light Weight	16.50	3,712.50
	CEMENT MATERIALS	Flo Seal	2.97	169.29
	CEMENT SERVICE	Cubic Feet Charge	2.48	1,037.46
	CEMENT SERVICE	Ton Mileage Charge	2.60	933.82
	CEMENT SERVICE	Surface	2,058.50	2,058.50
	CEMENT SERVICE	Pump Truck Mileage	7.70	154.00
	CEMENT SERVICE	Manifold Head Rental	275.00	275.00
1		Light Vehicle Mileage	4.40	88.00
	CEMENT SERVICE	8-5/8 Baffle Plate	146.00	146.00
	EQUIPMENT SALES	8-5/8 Rubber Plug	131.00	131.00
	EQUIPMENT SALES	Tim Dickson		
1.00	CEMENT SUPERVISOR	ļ .		
1				
1.00	OPERATOR ASSISTANT	Andy Fimple		
1.00	OPERATOR ASSISTANT	Marlyn Spangenberg		
				12 286 57

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

3,431.93

ONLY IF PAID ON OR BEFORE Feb 23, 2014

Subtotal	12,286.57
Sales Tax	553.39
Total Invoice Amount	12,839.96
Payment/Credit Applied	12,839.96
TOTAL	12,039.90

(Approved) 2-10-14)

ALLIED OIL & GAS SERVICES, LLC 062643

Federal Tax I.D. # 20-8651475

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092 SERVICE POINT:

Great Bend K	
--------------	--

DATE 1-29-19	1 2 - 1	VP. RANGE	***************************************	CALLED OUT 7:00 AM	ON LOCATION	JOB START	JOB FINISH
Pizinger LEASE	WELL #D3	.	N4 11			COUNTY	STATE
OLD OK NEW (CI		EOCATIO	3/4€ €	1 & Oliverty Bl	st I wont	Botton	Kr
			1760		PA		
CONTRACTOR R				OWNER S	ame .		
TYPE OF JOB S				-			
HOLE SIZE 121	<u></u>	T.D. 938	. 1	CEMENT		151 15	
CASING SIZE %	-78	DEPTH 935)	_ AMOUNT OR	DERED 235 1	235, 67	22 Kerteke
DRILL PIPE	***************************************	DEPTH DEPTH	~	- 4 thoras	af - 150 m	slam 1,3	75000
TOOL		DEPTH				· · · · · · · · · · · · · · · · · · ·	
PRES. MAX	***************************************	MINIMUM		COMMON	150	@17.90	2.685.05
MEAS. LINE		SHOE JOINT	401	POZMIX		_ @ <u>- /- / </u>	2.000
CEMENT LEFT IN	1 CSG. 40'			OEb - c	480	_@. <u>\</u>	384.00
PERFS.				CHLORIDE	***************************************	@. <u>\</u>	512.00
DISPLACEMENT	57,2			ASC		@	
	EQUIPN	/ENT		2255x 1	いうという	@16.50	3,712,5
	ZQUII.	******		P105001	57		169.29
PUMPTRUCK O	CEMENTER	- 00		•		@	***************************************
	HELPER 1	Jan Brok	<u>, ~~</u>	•		@	
BULK TRUCK	HELPER 1	verin Fa	griff-		:	@	
	DRIVER A		, 0	***************************************		_ @	***************************************
BULK TRUCK	DRIVER A	work south	×			@	*****
	DRIVER M	. 0 5				@	
<u> </u>	//	overhow show	Exercise	HANDLING 5			1.033. Ve
			`	MILEAGE 3:	59.16	2.60	933.82
_	REMAI					TOTAL	9.434.0
De- 978, 18		ale Carenta			SERVI	CF	
10% Nel 3% C	<. W + fl.	19.7 11.0	0000		DEAT	CE	
By 150 A C	laurt 37	sec. Relea		DEPTH OF JO	R 9170'		
Pers aus 1	tily bus	2 H20,		PUMP TRUCK		2.058.3	2
' () '				EXTRA FOOT	***************************************	@	
24 bble come	tig at to	1		MILEAGE H	***************************************	@ 7.70	154.00
Cemen	T Ded Y	arculate		MANIFOLD_		@ 275.00	275.00
				hum		@ 4.40	88.00
_				Name of the second seco			***************************************
CHARGE TO: Ke	hom & A.	mointer					,<
						TOTAL	2.575.
STREET							
CITY	STATE	ZIF)				
		'		F	PLUG & FLOAT	r equipmen	Т
	4	Then	m				
		•	` '	Ballellot	<u>تر</u>	_@176.00	146.00
				Dulber & L	N-C-/	@ <u>131.00</u>	131.00
To: Allied Oil & G	las Services.	LLC.		*		@	
You are hereby req			inment	***************************************		_@	
and furnish cemen						_@	
contractor to do we							
done to satisfaction						TOTAL	277.00
contractor. I have							
TERMS AND CO				SALES TAX (If	Any)		
TEMINO WIND COL	CMOLLICIA	noted on the lev	cise stue.	, , , , , , , , , , , , , , , , , , ,	700 17 9 W	, 57	
١,	/ 7 /	127		TOTAL CHARG	753 1 4. 5 8.	93	
PRINTED NAME X	John	1/ 149		DISCOUNT	5. 10	IF PAID	IN 30 DAYS
PRINTED NAME	٠	24			GES 12.280 3.93 8.85	41 64	
	1 V F	~ <u> </u>			0.00	1, =1	



PO Box 93999 Southlake, TX 76092

Voice: Fax:

(817) 246-3361

Bill To:

Kahan & Associates Inc. P O Box 700780 Tulsa, OK 74170

(817) 546-7282

INVOICE

Invoice Number: 141269

Invoice Date: Feb 4, 2014

Page: 1

MECEVED

TEB 17 7614

KAHAN & ABBUULATES

Customer ID	Field Ticket #	Paymen	t Terms
Kahan	62646	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS2-02	Great Bend	Feb 4, 2014	3/6/14

Quantity	Item	Description	Unit Price	Amount
1.00	WELL NAME	Pizinger D #3		350,000,000,000,000,000,000
30.00	CEMENT MATERIALS	Class A Common	17.90	537.00
20.00	CEMENT MATERIALS	Pozmix	9.35	187.00
2.00	CEMENT MATERIALS	Gel	23.40	46.80
150.00	CEMENT MATERIALS	ASC	20.90	3,135.00
750.00	CEMENT MATERIALS	Gilsonite	0.98	735.00
43.00	CEMENT MATERIALS	FL-160	18.90	812.70
21.00	CEMENT MATERIALS	Defoamer	9.80	205.80
12.00	CEMENT MATERIALS	DV 1100	58.70	704.40
243.83	CEMENT SERVICE	Cubic Feet Charge	2.48	604.70
210.80	CEMENT SERVICE	Ton Mileage Charge	2.60	548.08
1.00	CEMENT SERVICE	Production Casing	2,558.75	2,558.75
20.00	CEMENT SERVICE	Pump Truck Mileage	7.70	154.00
20.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	88.00
1.00	CEMENT SERVICE	Rotating Head	100.00	100.00
1.00	CEMENT SERVICE	Manifold Head Rental	275.00	275.00
1.00	EQUIPMENT SALES	5-1/2 Bullnose Guide Shoe	281.00	281.00
1.00	EQUIPMENT SALES	5-1/2 AFU Insert	335.00	335.00
6.00	EQUIPMENT SALES	5-1/2 Centralizer	57.00	342.00
1.00	EQUIPMENT SALES	5-1/2 Rubber Plug	85.00	85.00
1.00	CEMENT SUPERVISOR	Tim Dickson		
ALL PRICE	S ARE NET PAYARIE	Subtotal		Continued

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

3,285.85

ONLY IF PAID ON OR BEFORE Mar 1, 2014

	 1
Subtotal	Continued
Sales Tax	Continued
Total Invoice Amount	Continued
Payment/Credit Applied	**************************************
TOTAL	Continued



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Kahan & Associates Inc. P O Box 700780 Tulsa, OK 74170

INVOIGE

Invoice Number: 141269
Invoice Date: Feb 4, 2014

Page: 2

	4				
Customer ID Field Ticket # Payment Terms					
Kahan	62646	Net 30 Days			
Job Location	Camp Location	Service Date	Due Date		
KS2-02	Great Bend	Feb 4 2014	3/6/1/		

Quantity	Item		Unit Price	Amount
	EQUIPMENT OPERATOR			
ì	OPERATOR ASSISTANT	Brian Lang		
1.00	OPERATOR ASSISTANT	Josh Ellis		
	,			
		and the same of th		
[
		1 Duoloved	ĺ	1
		(Approved)	1	
		1 1 19 14		ļ
		2-11-11		
		() ~		
ALL PRICE	S ARE NET, PAYABLE	Subtotal		11,735.23
	OU OWNO DATE OF	Salac Tay		520 58

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 3,285.85

ONLY IF PAID ON OR BEFORE
Mar 1, 2014

Subtotal	11,735.23
Sales Tax	529.58
Total Invoice Amount	12,264.81
Payment/Credit Applied	
TOTAL	12,264.81

ALLIED OIL & GAS SERVICES, LLC 062646

Federal Tax I.D. # 20-8651475

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092 SERVICE POINT:

						•
DATE 2-4-14 SEC.	TWP.	RANGE IS W	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
10.1	_#3		,*	18:30 BM	COUNTY	STATE
OLD OR NEW (Circle on		LOCATION 281			1) Dayer	114
obb otto to to	<u> </u>	1 100 mg 24 1	out south		J	
CONTRACTOR Down	<u></u>		OWNER	Some		
TYPE OF JOB		*> 1 /	~ ~~~			
HOLE SIZE フジャ		35 <i>40'</i> 3538'	CEMENT	nenen le-	h = . 08	9., 64
TUBING SIZE	DEP		- AMOUNTOR	DERED 150	ASC AVE	37 1010
DRILL PIPE	DEP	**************************************	1-17 of Ess.		50 2 601	164/2071
TOOL		TH .	500 gal 0			arrow-
PRES. MAX 900 た		IMUMGOO F	COMMON	30	@ 17.90	537.00
MEAS. LINE	SHO	EJOINTAY, 15		20	_@ <u>9.35</u>	187.00
CEMENT LEFT IN CSG.	24.15		GEL		@ <u>23.40</u>	76.80
PERFS. DISPLACEMENT 83 (<u> </u>		_ CHLORIDE _		@	31550
			ASC /50	مار م < 75	@ 20 .90	3.135.00 735.00
E	QUIPMENT		F1-14		_@ <i>.70</i> _@ <i>/8.90</i>	812.70
			- DF	2)	_ @ 9.80	205. 80
PUMPTRUCK CEME		- Darkum	DV 1100		@ 58.70	
#366 HELPE	K Kass	659A	*		@	
#594-198 DRIVE	R B.	1	****	***************************************		
BULK TRUCK	" Dice	- some	***************************************		_ @	
	R Joul	Ellin		11.77 8/2	@ 	65
			HANDLING 2 MILEAGE 10		@ 2.48 2.60	218,00
10	REMARKS:		MILEAUE ZO	V) X CO X		
Ron 35381 2 5		1. 0. 0 1	•		TOTAL	·
Circleto Control	35 cm - 19v	LENE CUCULOUS SH whole I have		ann		7.516.47
500 gal DV 1100	5 bbls	HO Mins	Ο,	SERVI	CE	7.374 _
ISON ASC 3			DEPTH OF JO	B 3630		**
	20 Lasela	0350117116	PUMPTRUCK		2.558. 75	
with Reference	wouls	Lup Roleans	EXTRA FOOT		@	
Phing. Mullar	w you it	H30 Long	MILEAGE H		@ 7-70	154.00
28 02 dol 4	Malacus	Soft FOREST HOS		4vm 20	@ <u>4.40</u>	88,00
Marthale Rothole		6940 450 10			@ 100.00	186.00
, , , , ,		- •	Heer Re	~X~	_@ <u>275.00</u>	275.00
CHARGE TO: Koho	0 f 4M0	- store				7.75
STREET					TOTAL	3.175.
CITY	Pinn A min	719				
CIII	STATE	ZIP	F	LUG & FLOAT	EOUIPMEN	Т
			راب ^۳		~	
	<u> </u>	100	Bullman M	wide Shows	_@ 281.°°	281.90
) North	AFU IN	-	@ 335.00	335.00
To: Allied Oil & Gas Ser	vices, LLC.		10- Centra	week	@ 57.00	342.00
You are hereby requested		enting equipment	Rulder	her	@ 85.00	85.00
and furnish cementer and			No. 1-2	1	_@	
contractor to do work as	-					et (5)
done to satisfaction and s	supervision of	f owner agent or			TOTAL	1043. 00
contractor. I have read a						
TERMS AND CONDITI	ONS" listed of	on the reverse side.	SALES TAX (If	Any)	- 77	
1	1 11		TOTAL CHARG	GES 11.735). **	
PRINTED NAME X JO	hn Kli.	G .	DISCOUNT	3285	. RO	N 131 20 P 432
THE TAXABLE PARTY	7 , 1 /	/	DISCOUNT	0	— IF PAIL	O DAYS
CICNIATURE \ M L	/ KI '			かしてみ	• ===	
SIGNATURE X OF	m Dhu	1		·		
Y	1	1				